11

10

| 2

- 1D PERSONS RECEWING THIS DRAWING
THE TECHMICAL MATERIEL CORPORATION claims

oprielay SEM in the material disclosed ieraen.

s drawiag is issued in confidence for engineering

: 'fir???ﬁﬁﬁm‘ﬁﬂ'f? and may not be rehroduced or ysed
“mansfaciure anyihing shown hereon withou! per-

T

sion” from THE TECHNICAL MATERIEL CORPORA-

10 :. {o the uier, ?P;is drawing is loaned for mutual
assisiance and is suvject to recall at any time,

Property of.
THE ???‘.'_3?‘3”‘.’1!, MATERIEL CORPORATION

| Y P MCW VADL
FNELN, INCWY \G‘f(

OEE 3/4 WELD NUT DETAIL

— s 22% -

(@8 o et g i <o | AR o e g i 2 5‘;‘;‘

T g T T

e S (s
- ) 5. fone -

Il 5

| |

||

|

i

1] |

-~

MID&I%D;%QLMTA]L
(2 “T" HOLES AD. were "A" Holes

96} We
B 4 - i/4ADm was 4-T/16 ! .-
A TwWo "G " DeETALS ADDED /24 /g

Z

ENG. APP,

7 6 4
SEE TOP CORNER CONSTRUCTION
.
gf &
< 7%,5,7‘" — e R I Ej_ﬁ s B g e et il v i SR __P;-Té,l \E.T.i 5 0 B A B et e B 2 s B IR . o e T
e A% > T —
L 8
| ‘ | |
| | H— 25— -+ — il
| | 9 & i I S
g | - IO%- e — | 8 6
-~ I |
O~ ‘I |4
| |
—_'LCO ‘ |
N | |
|
| 2 % k. = 5 =
& F;. ié? b
| |
B | -
o0 ‘ i\o
.C—) ‘| E-_D-——
| |
5 |
| %
!
1 l,k\ I /& ;
B e I I e e L — ?
| a2

S FRAME (seE noTE 1)

|

SEE GUSSET DETAIL

|—BOTTOM PLATE cste nore »

HOLES ————

A- 3/16 DIA.

B- DRILL AND TAP FOR 8-37
C-11/16 DIA.

D- DRILL AND TAP FOR 10-22

E - SEE DETAIL
F- .500 DIA. FOR MTG. 3/4 WELD NUT

6 PEQ.
36REQ.
| REQ.
10 REQ.
2 REQ.
4 REQ.

i 44
2 DA |-
\__{b (b‘ y

17

—— 6 DETAIL —

(3 REQ)

— N I —

(1 REQ.)

'*; _1"DIA.
TN I

- -5 DIA.(4RE0)
b ol Q},

~EDETL ——

MAT’L - 11 GA. STEEL , COLD ROLLED

— GUSSET DETAIL—

e (14 REQ)
; 5., 198 MATL: 34
. 87 BN BAR STERL
.33 i |
*‘ ; Fr i *;;;j
¢ Rty ’gDR-?,’ C'SINK L / —
FOR B8+32
L—-PJ@B 1; A~

g ¥ T s
(2REQ.)

NOTE - ALL 3/4 WELD NUTS

MOUNT EXTERNALLY.

= 3/4 WELD NUT- ( 4 ey

\\ PU\WE (SEE NOTE 2)

SEE BOTTOM CORNER CONSTRUCTION

\

MM

lad

e

— TP CORNER CONSTRUCTION — |- BOTTOM CORNER CONSTRUCTION —

(OPTIONAL )

(TYPICAL, 4 CORNERS)

(OPTIONAL)

( TYPICAL, 4 CORNERS)

NOTES ———

|- FRAME - 3/4 X 3/4 %, |{ GA. COLD ROLLED STEEL.
Z- PLATE- 11GA. COLD ROLLED STEEL.
3- BOTTOM PLATE - {{ GA. COLD ROLLED STEEL .

PAN IR

COPPER FLASH, AFTER WELDING AND GRINDING.

REF - TMC DWG NO. LD- 904

REQ. | ITEM PART NO.

DESCRIPTION

SYMBOL

STOCK SIZE

------ _—— THE TECHNICAL MATERIEL CORP.

MAMARONECK, NEW YORK

ARG FRAME ASSY

svi SRR it o wckar UNLESS OTHERWISE SPECIFIED 5 MATERIAL - - < e
BNETR ESumsaas A seae Lo Ul oL | e ek gy e, g S EE—— T e =)
c c3% DRAWN | CHECKED TFINAL RPPROVAL
DIMENSIONS ARE IN INCHES RPN g s s SR S - DECIMALS o e 33 ACU 4 - 17 - &l TYPE & TEMPER HEAT TREAT. SPEC. -
BEEN DETERMINED AND ANY DEVIATIONS - R Sy B TOLERANCES ANGLES | = B
TOLERAREES DN WILL BE CAUSE FOR REJECTION. XXX *.005 £.0° 30 MODEL SECTION ASS'Y. NO. _—
FRACTIONS % 1/64 DECIMALS % .005 ANGLES % 1/2° REMOVE ALL SURRS &.FLARE EDGES USED ON FINISH & SPEC. NO. ELEC, DES. APP. | MECH, DES. AFP. SHEET OF
TMC FORM NO. 111 4 DEFIANCE NO. 1020  seas2




